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giBlOHE T 5L

£330 T—YDUNEE LR (4/27)
» Ry RDO—0BEBY—IL
> T 74—V bk
» OUBMFE
» BE: 0T -9 EIERRR



SEDT—V

% 4@ DHEEEXRE
» IERDH
> ERXEERE
> DD
» BE: EBXE
» FeE 1l



IER5 70 (normal distribution) 1/2

v

vyvyVvyy

DOAREDDH. HORDHEDBFEND
N(p,0) 2 DDEHTER: 19 u. BERE o

ABORIERDHICRES

BEERDH: n=0,0=1

ERDHBTRET—5D

» 68%I[d (mean £ stddev)
» 95%I(& (mean & 2stddev) DEEICA S

f(x)

1

08
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0

méan
median

ex|

(-X**2/2
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IER2 70 (normal distribution) 2/2

tesRZERIE (PDF)
flx) =
KRiENHEE (CDF)

F(z) =

o2

5

) 2
W mean, o

o—(@=n)? /20

f)

T vartance

1

TEREA
pOOO
oy
ownorT
GoRs

f(x)

cdf
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0.6

0.4
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{SFEXFE (confidence interval)

» {SXEXE (confidence interval)
> HEttCBEDEBZRY
> HEBDEL S, REHSZRT

» {SREE (confidence level) BRIKZE (significance level)

Prob{eci <pu<ec}=1-a

(cl,¢2): con fidence interval
100(1 — «) :  confidence level
Q: signi ficance level

> Bl SFE 95% T. BFFIE. cl & 2 DFEICHFE
» BBEUT. E558F 95% & 99% &< fEhnd

6
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95% 58X E
EREBER N(u, o) HBESNEERTS 7 RERHE

N(u,0//n) (€S
95%{SHX R FIBEERDHOU T OHEA ZBH%T

—196< <196

U/f

N(O, 1)

0.025 0.025

-1.96 0 1.96

BEERS% N0, 1)
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ERXE DR

~ {SHRE 00% &(3. 0% DWETRTIINMEERMAICHET
d2¢&

f(x)

confidence interval from sample 1 e
sample 2 ———
sample 3 O
sample4 — o+ —
sample5 ——e+———

sample 6 ——

sample 7 ———

sample 8 | ——e—— falstoinclude p
sample9 ——e—+—

sample 10 ———



FIAHEDEREXE
YYT YA ZDREFNE, BFIOESBRRE,

TF 21-a/28/Vn
ZZT. A sERERERE niEAY o BRKE
2o BEERAHCHF B (1 — o/2) BEOBRE
> {giﬁfg 95% @i’%/ﬁ\ 21_0.05/2 = 1.960
> {EiEJg 90% @i’%é 2’1,0'10/2 = 1.645
» Bl TCP RIL—Tw 7% 5 @EHEI
» 3.2, 3.4, 3.6, 3.6, 4.0Mbps
» EARF1:7 = 3.56Mbps {ZEARIEXERZE s = 0.30Mbps
» 95%SREXMAE:
T 1.96(s/v/n) = 3.56 T 1.960 x 0.30/v/5 = 3.56 T 0.26

> 90% (S FEXFE:

T F 1.645(s/+/n) = 3.56 F 1.645 x 0.30/v/5 = 3.56 F 0.22



HHEDERXEE UV TILE
YUTIEHBR B, EEERER RS

measurements

70

68

66

64

62

60
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54
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I L\H

) ~ mean
| 95% conf!dencq |nter\(a|

4

8 16 32 64 128 256 512 1024 2048
sample size

THEDOEEXEOY Y TILBIC KX BEL
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YT IVEHD IR WEE DIHEDEFEXAE
YU TIVEHDE (< 30) B8, BEEANERDHICRESIHZEIC
BR>T. ERBXEZERDBIENTED

» FRPEHDSH YT IVER-TI5E. 4R E
(& — 1)/(s/n) (& t(n— 1) PTBERRD

TF t[l—a/Q;n—l] 8/\/ﬁ

ZTT oz ) & BBEE (n—1) Dt HFHLEBFZ (1-a/2)
(B DIBRIE

(9

t(n-1) density function

-t[1-a/2;n-1] +[1-0/2;n-1] X-Wis
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Y YT IVEHDIRVEE DFIHEDEFEXE DB

> Bl: BRD TCP RIL—T v REHRAITHE. t(n— 1) DHRZED
IEREXBOHEZT 20E
> 95%1%%5\‘2&33 n=>5: t[1_0‘05/2,4] = 2.776
T F 2.776(s/\/n) = 3.56 F 2.776 x 0.30//5 = 3.56 T 0.37
> 90%1%@8%3 n=>5: t[1,0.10/2’4] =2.132

T F 2.132(s/v/n) = 3.56 F 2.132 x 0.30//5 = 3.56 F 0.29
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b DIEFRX[E

» B8
» BBHE (n—1) @ 2 9%
> BARDBDL:
» BBHE (n1 —1,no—1) DFHH

13 /42



ERXE DA

IvyEEET
> HHEDHESEBZRT
» HYLIRERED S, BELBERXBZRET D72 (CAEE
THBENRDD
» RERERXBZRET DX THHUZERORT



Y ZFDIEDICRHEBRT VT ILE
» S8E 100(1 — a) T +r% OBETRFIZHET DHIC
(FRIBDHIT n BB ?
» PRERZTV BT 2 & BERE s 2185
> YYTINYA X n, BREE 7 F 25 BREGBE r%

FFr = (1 F —)
T T T 100

» fl: TCP R)L—T'v bDOFESHAIT, $ZARF1Y 3.56Mbps, 12
AIZ2#ERZE 0.30Mbps Z187c.
S3BE 95%. FBE (< 0.1Mbps) TFEH%EE D=0 (SIS
EITDIREBHHDH?
. (10025)2 —( 100 x 1.960 x 0.30
rT 0.1/3.56 x 100 x 3.56

)2 =34.6



HEE CIRERIRTE

{REIRTE (hypothesis testing) D BE/Y
» BEFICOVWTRESNIZMBZERAICE DV TRSE
HETE & RERTE (FRRDBR
» HE: HIDIHBEICADIEZTE
> RERIRTE: IRERDMRASNDH RIS NDH
» BERICADEVWSIREZIIT. ZDIREEH 95%EBXBICA
IHhESE
» XERTHNIIRERITEHEASINS
» XBATIHREGRGENEIND

16
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HRTE DB

NMOIAVERIFTERNI0K Tz, COFBED N ELT36 K
FHDRBIN? (LEUDHIE = N/2,0 = /n/2 DIERDTHIC
LiED'SHDET D)

> IRER: N =36 TRHA 10 LD

> 05%{SHEE CTRRTE

~1.96 < (2 —18)/3<1.96 1212 <z < 23.88

10 (X 95%X B DIMACEH B DT 95%EMETIE N = 36 LWL SR
FEERNEND



ANEDER

BIEBICEEERBONDIT—IDH 7156, TPHICEHNLTE
LMFERLY,
(EECE. BRGERICENDUREN)

» Chauvenet D¥IME®E: ANBZZEHT D-HDRERA
BYTINTA X nH 5. BARAFIZEREEREZSTE
EROPHERE LT, TOEOLIRER p =KD D
HUnxp<0b BSZDEEZENLTHXIL
S n < 50 DBEXEB/EIEN, CTOFEROERUBWT
[FWLMF7ERLY,
» f5ll: 10 DDEESHANE: 4.6, 4.8, 4.4, 3.8, 4.5, 4.7, 5.8, 4.4,
4.5, 4.3 (sec). 5.8 %’J‘(;tif‘“'ﬂ'gt UTEHNTEDHV?

» T=4.58,s=0.51

by = Zowe=L = BBoASS — 9 4 5 LD 2.4 fFEREL

» P(|lz—Z > 2.4s) =1—P(lx—Z| < 2.4s) = 1-0.984 = 0.016

» nxp=10x 0.016 = 0.16

» 0.16 < 0.5: 5.8 MEWVNST—HEIFEINTES

v

v vy




PR ERBE. RE
IFHERE (accuracy): AIEBEEEE DTN
FEE (precision): AIEBED(EFSDEDIE
ERE (error): BEHNSDITN. ZOAREN S DEREH

accurate, not precise

f(x) . precise, not accurate ——

true
mean
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WBWBRRERE

RIESRZ=

» RiIREE (R ZIBETENEHIETLE)

> BMOVERE. BROVERE. BARRE

» BARRE (V1R BRIZRDREHEEGD L)
StERE

» XDHRE

» FTBYIDRE

» BRES (BHARICELDIS—)

» HTBE (AHEFORL)

> REDGHK
YTV IRE

» EARAEZITOHE. TRIIEEEAEA

> IEARRE: BEEDEDHERNRESDEDIF

20 /42



BWEF E BN
1.23 OBWEF(E 3 HT (1.225 < 1.23 < 1.235)
R0

=i BINTE
12.3
12.300
0.0034
1200

2.34 x 10*

(BULEL, 1.200 x 10%)

W s NOW

St8
> HERPREHTHONAREVNEXKEHE
» FEREDHER 1% <ENEKL
> RARBREF (CBHTZEER
EXIL-I
> HOEE: HIENDRBWEDICEDLED
> 1.23 4 5.724 = 6.954 = 6.95
» FRE: 5 EOBFPHFHIROEDLBVBDICEDLES
> 4.23 x 0.38 = 1.6074 = 1.6

21 /42



JIVE1—YDEERE

BD PC (X 64bit 7oA, AV — kT 7 VICIEF X 32bit DEEREH
ZW
> integer (32/64bits)
» 32bit signed integer (2G ETUMADY K TERW)
» 32bit floating point (IEEE 754 single precision): BT 7
» sign:1bit, exponent:8bits, mantissa:23bits
» 16,000,000 + 1 = 16, 000, 000!

» 64bit floating point (IEEE 754 double precision): BZhHT#L 15
> sign:1bit, exponent:11bits, mantissa:52bits

N
N

)



gIBIDER: web 7O LR0OT YT ILT—5

v

apache log (combined log format)
» JAIST Y —/){\—07 (24 H#F%\)
» VIR PRAHT—/ BED web —/{—TFHWN
1/10 YU VT W72 A1T
# 20MB (E#88F). # 162MB (FRR#R)
> gz»r?y RDIPPZRLRE TSANY—REDDE

» using “ipvbloganon —anonymize-careful”

v

v

HYITINTF—5:

http://www.iijlab.net/ kjc/classes/sfc2015s-measurement/sample_access_log.zip
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YYITINT—5

117.136.16.0 - - [01/0ct/2013:23:59:58 +0900] "GET /project/morefont/liangqiushengshufaziti.apk \
HTTP/1.1" 200 524600 "-" "-" jaist.dl.sourceforge.net

218.234.160.0 - - [01/0ct/2013:23:69:59 +0900] "GET /pub/Linux/linuxmint/packages/dists/olivia/\
upstream/i18n/Translation-ko.xz HTTP/1.1" 404 564 "-" "Debian APT-HTTP/1.3 (0.9.7.7ubuntu4)" \
ftp.jaist.ac.jp

119.80.32.0 - - [01/0ct/2013:23:59:59 +0900] "GET /project/morefont/xiongtuti.apk HTTP/1.1" 304 \
132 "-" "Mozilla/4.0 (compatible; MSIE 6.0; Windows NT 5.1; Foxy/1; InfoPath.1)" \
jaist.dl.sourceforge.net

218.234.160.0 - - [02/0ct/2013:00:00:00 +0900] "GET /pub/Linux/linuxmint/packages/dists/olivia/\
import/i18n/Translation-en.gz HTTP/1.1" 404 562 "-" "Debian APT-HTTP/1.3 (0.9.7.7ubuntud)" \
ftp.jaist.ac.jp

117.136.0.0 - - [02/0ct/2013:00:00:00 +0900] "GET /project/morefont/xiaoqingwaziti.apk HTTP/1.1"\
200 590136 "-" "-" jaist.dl.sourceforge.net

123.224.224.0 - - [02/0ct/2013:00:00:00 +0900] "GET /pub/Linux/ubuntu/dists/raring/main/i18n/\
Translation-en.bz2 HTTP/1.1" 304 187 "-" "Debian APT-HTTP/1.3 (0.9.7.7ubuntu4)" ftp.jaist.ac.jp

123.224.224.0 - - [02/0ct/2013:00:00:00 +0900] "GET /pub/Linux/ubuntu/dists/raring/multiverse/\
i18n/Translation-en.bz2 HTTP/1.1" 304 186 "-" "Debian APT-HTTP/1.3 (0.9.7.7ubuntu4)" \
ftp.jaist.ac.jp

124.41.64.0 - - [01/0ct/2013:23:59:58 +0900] "GET /ubuntu/pool/universe/s/shorewall6/\
shorewall6_4.4.26.1-1_all.deb HTTP/1.1" 200 435975 "-" "Wget/1.14 (linux-gnu)" ftp.jaist.ac.jp

240b:10:c140:2909:2949:4291:¢02d:56d13 - - [02/0ct/2013:00:00:01 +0900] "GET /ubuntu/pool/main/m/\

manpages/manpages_3.52-1ubuntul_all.deb HTTP/1.1" 200 626951 "-" \
"Debian APT-HTTP/1.3 (0.9.7.7ubuntu4)" ftp.jaist.ac.jp

24 /42



FIOEE:. VOIZRNEROTOY ~

» YV TILT—9%(ERA
» UOTI RN EEE/INA ME 5 DREEY TibE I3
» BEROTOY b~

% ruby parse_accesslog.rb sample_access_log > access-bmin.txt
% more access-bmin.txt
2013-10-01T20:00 1 1444348221

2013-10-01T23:55 215 1204698404
2013-10-02T00:00 2410 5607857319
2013-10-02T00:05 2344 3528532804
2013-10-02T00:10 2502 4354264670
2013-10-02T00:15 2555 5441105487

% gnuplot
gnuplot> load ’access.plt’
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5 DfERTY O TR MIEEE/ 1 ~iEE

#!/usr/bin/env ruby
require ’date’

# regular expression for apache common log format
# host ident user time request status bytes
re = /~(\s+) (\s+) (\s+) \[(.*?)\] "(.x7)" (\d+) (\d+|-)/
timebins = Hash.new([0, 0])
count = parsed = 0
ARGF.each_line do |linel

count += 1

if re.match(line)

host, ident, user, time, request, status, bytes = $”.captures

next unless request.match(/GET\s.*/) # ignore if the request is not "GET"
next unless status.match(/2\d{2}/) # ignore if the status is not success (2xx)
parsed += 1
# parse timestamp
ts = DateTime.strptime(time, ’%d/%b/%Y:%H:%M:%S’)
# create the corresponding key for 5-minutes timebins
rounded = sprintf("}02d", ts.min.to_i / 5 * 5)
key = ts.strftime("%Y-%m-%dT/%H:#{rounded}")
# count by request and byte
timebins[key] = [timebins[key][0] + 1, timebins[key][1] + bytes.to_i]
else
# match failed
$stderr.puts("match failed at line #{count}: #{line.dump}")
end
end
timebins.sort.each do |key, valuel
puts "#{key} #{value[0]} #{value[1]}"
end
$stderr.puts "parsed:#{parsed} ignored:#{count - parsed}"
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DOIRNEBROZOY

14 T T
12 | requests

10

requests/sec

8
6
4
2
0
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350 T
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time (5-minute interval)
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gnuplot 22 U7~

» multiplot 8$BET 2 DD T0OY hZEXEHS

set
set
set
set
set
set

set

set
set

xlabel "time (5-minute interval)"

xdata time

format x "JH:JM"

timefmt ") Y-Y%m-%dT%H:%M"

xrange [’2013-10-02T00:00°:°2013-10-02T23:55°]
key left top

multiplot layout 2,1

yrange [0:14]
ylabel "requests/sec"

plot "access-6min.txt" using 1:($2/300) title ’requests’ with steps

set
set

yrange [0:350]
ylabel "traffic (Mbps)"

plot "access-5min.txt" using 1:($3%8/300/1000000) title ’traffic’ with steps

unset multiplot
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5: IERELEDERM

IERD T (THE D FRLELE D AR
> — RO DLNELEERBIH (ruby D rand 78E) ZfE> T, F

19 u. RERE s ZHORLELBERT OIS LAZEK

» EXNT S LADIER
> 1R E*ﬁﬁ*ﬁ(:ﬁ’)%ﬂuﬁ,%‘(%iﬁb ZOER TS AR,

REERDM CTH DI EZHRT

> SRXEDHE
> BYTIBICK > TEBXBNELT 32 & ZHR

SREREBERT OIS LZBVT, T3 60, {R¥ERE 10 D
IERD(CRESELESZE 10 BEED, VT )L n =4, 8,
16, 32, 64, 128, 256, 512, 1024, 2048 DEHF =S,

BARD SO X EHEE

ZO 10 BROEHIIDZENZTNN 5. BFIOXEIEEZTT
Ro SHAE 95% T, fEREM "+£1.960 =" ZAW\&L. 10 &4
DFFERZEVEDDRICTOY hEX, X §EBUJ‘J7)L§5(%E Y
#WICTFHIEZED. ENZTNOYYTIHSHELEFHEZ
DEREKEZERE
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box-muller ;AT K B IEARBLEAERK

basic form: creates 2 normally distributed random variables, z; and
z1, from 2 uniformly distributed random variables, ug and w1, in
(0,1]

v —21Inug cos(2muy)
vV —2Inwugsin(2mu;)
polar form: =AREEZEDIR VAL

ugp and uq: uniformly distributed random variables in [—1, 1],
s=ud+u? (if s=0ors>1, reselect ug,u)

20 = Rcos(f) =
(0) =

z1 = Rsin(6

—2Ins

20 = Uo

|
N
—_ »
=]
»

21 = U1
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box-muller JE(C KD IERELEENR I — K

# usage: box-muller.rb [n [m [s]]]
n = 1 # number of samples to output
mean = 0.0

stddev = 1.

n = ARGV[O0].to_i if ARGV.length >= 1
mean = ARGV[1].to_i if ARGV.length >= 2
stddev = ARGV[2].to_i if ARGV.length >= 3

# function box_muller implements the polar form of the box muller method,
# and returns 2 pseudo random numbers from standard normal distribution
def box_muller
begin
ul = 2.0 * rand - 1.0 # uniformly distributed random numbers
u2 = 2.0 * rand - 1.0 # ditto
s = ul*ul + u2%u2 # variance
end while s == 0.0 || s >= 1.0
w = Math.sqrt(-2.0 * Math.log(s) / s) # weight
gl = ul * w # normally distributed random number
g2 = u2 * w # ditto
return gl, g2
end
# box_muller returns 2 random numbers. so, use them for odd/even rounds
x = x2 = nil
n.times do
if x2 == nil
X, x2 = box_muller

else
X = x2
X2 = nil
end

X = mean + x * stddev # scale with mean and stddev
printf "%.6f\n", x
end



EREBDER TS LB
> BEFRABOE RIS LEERL. ERAHTHZ L%
"RY S
> EBEIERILIE 10,000 BER L. IR 1HOEYTER N
U5 DEIER

0.45

0.4

f(x)
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EXNT S LADIYER

» DEK[UT I CTER NI S LZERT D

#
# create histogram: bins with 1 digit after the decimal point
#

re = /(-?\d*\.\d+)/ # regular expression for input numbers
bins = Hash.new(0)

ARGF.each_line do |linel
if re.match(line)
v = $1.to_f
# round off to a value with 1 digit after the decimal point
offset = 0.5 # for round off
offset = -offset if v < 0.0
v = Float(Integer(v * 10 + offset)) / 10
bins[v] += 1 # increment the corresponding bin
end
end

bins.sort{la, bl a[0] <=> b[0]}.each do |key, valuel

puts "#{key} #{valuel}"
end

33
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FREBDOER TS LDTOY

set boxwidth 0.1

set xlabel "x"

set ylabel "f(x)"

plot "box-muller-histogram.txt" using 1:($2/1000) with boxes notitle, \
1/sqrt (2+pi)*exp(-x**2/2) notitle with lines

E: RN D OERZERM (PDF)

EX TS LDEE

$ ruby box-muller.rb 10000 > box-muller-data.txt
$ ruby box-muller-hist.rb box-muller-data.txt > box-muller-hist.txt

70w k& “box-muller-hist.plt” ZfES
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FIMEDEEXEE U Y IV ORSE
YUTIEMMEZ BICHREL, FRXMEEIRL S

measurements

70

68

66

64

62

60

58

56

54

ISR

1 L \f/f

) ~mean
| 95% conf;dencg |nter\(al e

4

8 16 32 64 128 256 512 1024 2048
sample size

THEDEEXEOY Y TILRICKDEL
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EREXEOHE

T—59 DIERKL

ruby box-muller

$ ruby box-muller.

$ .rb 4 60 10 | ruby conf-interval.rb > conf-interval.txt
$ ruby box-muller.
$ ruby box-muller.

rb 8 60 10 | ruby conf-interval.rb >> conf-interval.txt
rb 16 60 10 | ruby conf-interval.rb >> conf-interval.txt

rb 2048 60 10 | ruby conf-interval.rb >> conf-interval.txt

BEIC(E “conf-interval.plt” ZfE>S
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SHEXBDEE

# regular expression to read data

re = /~(\d+(\.\d+)?)/

z95 = 1.960 # z_{1-0.05/2}
290 = 1.645 # z_{1-0.10/2}

sum = 0.0 # sum of data
n = 0 # the number of data
sqsum = 0.0 # su of squares
ARGF.each_line do |linel

if re.match(line)

v = $1.to_f
sum += v
sqsum += vk*2
n+=1

end

end

mean = sum / n # mean

var = sqsum / n - mean**2 # variance

stddev = Math.sqrt(var) # standard deviation

se = stddev / Math.sqrt(n) # standard error

ival9bs = z95 * se # intarval/2 for 95} confidence level
ival90 = z90 * se # intarval/2 for 90% confidence level

# print n mean stddev ival95 ival90
printf "/d %.2f %.2f %.2f %.2f\n", n, mean, stddev, ival95, ival90

37
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:l*E\IZFEﬁo)jolj v I\

set logscale x

set xrange [2:4192]

set key bottom

set xtics (4, 8, 16, 32, 64, 128, 256, 512, 1024, 2048)

set grid ytics
set xlabel "sample size"

set ylabel "measurements"

plot "conf-interval.txt" title "mean" with lines, \
"conf-interval.txt" using 1:2:4 title "95) confidence interval" with yerrorbars
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2 1 R/IIUILY SV Y 2014 SEERBDHROTOY ~
> RSV EF—IDNSHHEAND
> F—%: 2014 FOR/ILILR SV Y DEH
> http://www.pseresults.com/events/647 /results
» FEEH 21,815 A
> REES
1. 2TEE. BUREE. IEREEBZNZTNO. TERKBOF
19, BERE. PREIE
2. ZFNZNOREFEDERA RIS A
» 3DDERNITSLZERNZDRICEL
» EVIBIE 10 2CT B
» 32070V ~MIHETED LS ICEBEREZEGHEDZE
3. #Fh2no CDF 0w ~
» DEDORIIE3ID2DOTOY hEEL
4. ATV 3y
» FRBPERIO COF ’Ov hRE B8
5. ER
> TIDSHEAEND I EETIR
> RBEFER: LIR—~ZEUVEDD PDF 774 JLICLT SFC-SFS h 5i2E
> RBEXY): 2015 F 58278
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RNV YT—H

T=HI7x—3v bk

Place Num Chip Lname Fname Country Division Div Div Sex Sex 10Km 21Km 30Km 40Km Pace
Time Plc Tot Plc Total

1 3 2:15:35 Chebet Wilson  KEN MElite 1 8 1 11507 0:31:50 1:08:45 1:37:47 2:09:49 5:11
2 6 2:16:04 Lonyangata Paul KEN MElite 2 8 2 11507 0:31:50 1:08:45 1:37:47 2:10:05 5:12
3 7 2:16:27 Abraha Geb ETH MElite 3 8 3 11507 0:31:49 1:08:44 1:37:46 2:10:24 5:13
4 5 2:16:37 Kolum Benjamin KEN MElite 4 8 4 11507 0:31:50 1:08:44 1:37:47 2:10:32 5:13
5 4 2:17:54 Adhane Yemane ETH MElite 5 8 5 11507 0:31:50 1:08:45 1:37:47 2:11:06 5:16
6 2 2:17:59 Chelimo Nicholas KEN MElite 6 8 6 11507 0:31:51 1:08:46 1:37:48 2:11:32 5:16
7 25151 2:27:26 Harada Taku JPN M30-34 1 1218 7 11507 0:32:26 1:11:15 1:43:20 2:20:27 5:38
8 8 2:28:23 Arile Julius KEN MElite 7 8 8 11507 0:31:51 1:08:44 1:38:39 2:19:39 5:40
9 30300 2:29:52 Ito Tatsuya JPN M30-34 2 1218 9 11507 0:34:36 1:13:04 1:44:37 2:22:16 5:43
10 F9 2:30:23 Chepkirui Joyce KEN WElite 1 9 1 10308 0:34:37 1:13:07 1:44:50 2:22:43 5:45

Chip Time: FEEFR
Category: MElite, WElite, M15-19, M20-24, ..., W15-29, W20-24, ...
> "No Age” £ TWBANNSDTEE
» Country: 3-letter country code: e.g., JPN, USA
> TEBZBE LS. BEDE>TLWBHFIVvITRIE

40 /42



XED

% 4@ DHEEEXRE
» IERDH
> ERXEERE
> DD
» BE: EBXE
» FeE 1l

41 /42



E50 ZRMEEEME (5/18)

» OVI7—I

> Web 7OEBREDVFTIVYDT
NEFEBHER
EY NERABIT

v

v



